R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213\FL-15213.9-11.dwg, FL-15213.11

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain
Rustic / Mahogany

Series Fiberglass Door

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

1. This product has been evaluated and is in compliance with the 2010 Florida Building Code

(FBC) structural requirements excluding the "High Velocity Humicane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to

base material shall be beyond wall dressing or stucco.

3.  When used in areas requiring wind borme debris protection this product is required to be

protected with an impact resistant covering that complies with Section 1609.1.2 of the 2010

FBC.

4. For 2x stud framing construction, anchoring of these units shall be the same as that shown
for 2x buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

=

Typical elevation, design pressures, & general notes

Door panel details

65.50" MAX. OVERALL FRAME WIDTH
37.50" MAX. OVERALL

FRAME WIDTH

82.00" MAX. OVERALL FRAME HEIGHT - INSWING

80.50" MAX. OVERALL FRAME HEIGHT - OUTSWING

14.00" MAX. OVERALL
FRAME WIDTH

Sidelite panel details

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction

INSWING

65.50" x 82.00"

21.00" x 63.00"

5.87" x 63.00"

+50.0 -50.0

Frame anchoring - 1X buck masonry construction

VO |IN|O~ ||| WIN

Bill of materials, glazing detail & components

OUTSWING

65.50" x 80.50"

21.00" x 63.00"

5.87" x 63.00"

+50.0 -60.0

n
o P 2
2 $n 3
gm £, 2
= ,\go N
.E!?_wdl\g
§02‘62 e
0o ¢ *
55838 Vo
>N 8% o
Zon 5t 2
e OM [
@ OV Lo\ e
,!,tzngz"éi a
ngggs(t\h:
{ -}
Ean:fm%\\g
) g%:‘:’ s
c TP =
® Se
Eg o
3
Q
[*]
o
w
7]
L
o -
sS| R
=9 Zw
293 =
B2 oy
me
<SEE “g
dold I
m) ] 83
D =0
e Bl &
& P
&
n
=z
O
2]
|
o
I
S
o
>
oatE: 02/16/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL-15213.11

SHEET _1 oF 9

© 2012 R.W. BuiLDING CONSULTANTS INC.



TON] SANVLINGNOD SNIGTUNE "M 108 @

60¥CH "ON ‘I'd “WPIUYDS “d uopuk] SNOISIAZY i -
22z STVLIa TNV H00d Ad ETLTCH T ] N P I
¢188 "oN uopozfloiiy IG5 sipounIen - NS ™
sspouibUzl [DUOIBESLOL] JO DPIDOE DPLOl SATGNISSY H0 1dvd Mm M ooy s
LELE'6S9°CLE TON sudyd J000 SSvYi19¥3ald ,mu, . 22 2_
S6gEe "4 OOHIDA 0£Z X0 ‘0°d \N\Fﬁ NI 0NdLSV1d S|, |B|&lg
“ONI “SINVIINSNOD ONIaNNG i m elE 2
:Ag pedodeld sjuswINDCg -L0NA0Hd & m & W @
o
© 3 o) (® S
oz =
= 1§
—
z 4
__ T 2
2 —~ ) iy i gl &
I” ~> lﬂ.... S~ I” -~ E O
o et
, Y
=
o
O [- 4
& s
O, -

& Rl
o TET

——{ = 0.66"

- 651 -

LATCH & HINGE STILE
LATCH & HINGE STILE
Lvl wood reinforcement

Cellular PYC

(@)

2.5

REINFORCEMENT WOOD

Forlock

1/
/4

(#)

i

EXTERIOR
INTERIOR

A

// :
S0

I/

A

s

/"1 HORIZONTAL CROSS SECTION

\2/
= 1.59" —=]

r« 1.59" a-‘

e TOPRAIL
\ Cellular PYC
@ BOTIOM RAIL
-/ Cellular PVC

21.00" MAX
D.L.O. WIDTH

I

DOOR
DOOR PANEL

35.75" MAX.

PANEL WIDTH

40

et ——

b
ﬁl IHOEH 'O 1A XYW .00'€9

~=—— IHOEH TANYd 3000 XYW 5T 8L —=

1T 'BMP'TT-6'€TZST-14\0TOZ\sBUImMeIQ DIMY "A\L8ST 4d\009T - TOST foid\siepjod 108f0id\s180ud - V\:y



TONG SLNVATINENDOD aMNIGTING "M'H 8108 @

BOFPCY "ON "'d “IPIUYOS 4 uOpuky mZO_m_\/MK . -
szl ) SWI3 TINVG ILTIAIS AH AN Glxle] 5o
O URRDILICLN [:xYele]] o 1 B
cioouibuz IouoEESIOI 0 PSR PLIOL] KTGNISSY_¥0_1Tvd S L R PR
L616655°E L8 ToN suoud ¥000 SSYI9uTal N
$8SEEC T4 O2MIDA O£Z Xx0d "O'd \Sug ONI 0¥dISYId ol 1hikie |
“ONI ‘SLNVLINSNOD ONIGING il w | E |l
:Ag pedodesd sjuswinocq -LoNAodd & M S m &
C o S
9 5
N e
:m._ O]
)
= o
S
SN SN SN v
ey [Py Moy M
=
ac
o g
Q = >
‘. Q)
—_
% oo
=

[<h}
] 8
.,.._,_ \ @
- 1y
- 5w
%lq 4‘1 WB8°1 J!lf umu W
z 2l
: L 2
\\ ” W05l
“H 3
5 g S
o f M
= =
& = o
y: m
@ : :
& ]
B o

< B =
<we MD
=52 33
20 KO

- X wZ =

o- <t

| - .

ﬂ! L T ————— , W

ﬁ[ IHOEH 'O 7Td "XYW .00E?

=— IHOEH TANVYd JL130IS XYW 5T 6L —=

TT'€ ‘BMPTT-6'€TZST-14\0TOZ\SBUIMeIQ DaMY "A\L8ST 4d\009T - T0ST fosd\siapjod 109f0id\s108(0d - W\



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.9-11.dwg, 4.11

50

S

INTERIOR

N
X

/::

(10
4/

1-1/4" MIN, -
EMB. (TYP.)
gdRRat NOTE
qv - ‘ \
S '\ \
v ‘vAv:.'» ‘ S

/"1 "\ HORIZONTAL CROSS SECTION

0.15"
=— C'SINK

(TYP.)

\U Outswing shown - inswing 1.
also approved

SEE
NOTE 1 @

7

_

%@\Il

S

/"2 \ HORIZONTAL CROSS SECTION

\\i/ Outswing configuration

(40)

INTERIOR

@ % EXTERIOR
7)) (40

®

— 4
Lro

S
\\”

EXTERIOR

NOTE:

Sidelite panel secured to the sidelite
frame with (4) of item #M located
10", 30.5", 51" and 71.5" from top of
each jamb and (2] of item #M in
the head, 3" from each end

SEE
Q NOTE 1

@

‘ {
ONGNG

/~3 "\ HORIZONTAL CROSS SECTION

W Outswing configuration

SEE
NOTE 1

N

- o by !

/~ 4\ HORIZONTAL CROSS SECTION

7

_

INTERIOR

EXTERIOR

N

INTERIOR

1-1/4" MIN.
EMB. (TYP.)

SEE
NOTE 1

641

7

/"6 "\ HORIZONTAL CROSS SECTION

w Shown w/1X sub-buck

@ @

EXTERIOR

W Inswing configuration

®

SEE
NOTE 1

m HORIZONTAL CROSS SECTION

\i/’ Inswing configuration

CE N

Ly,
43409

813

BUILDING CONSULTANTS, INC.

P.O. Box 230 Valrico FL. 33585

Phone No.: 813.659.9197
Florida Board of Professional Engineers

Certificate Of Authorization No.

Ry

Documents Prepared By:

Lyndon F. Schmidt, P.E. No.

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
HORIZONTAL CROSS SECTIONS

PRODUCT:

REVISIONS

¢
<
[
o
z
2

paTE: 02/16/1

scalE:  NUT.S,

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15213.11

SHEET 4 OF _9

© 2012 R.W. BUIiLDING CONSULTANTS ING.



SN BANVL RO W I N 8 G LU ()

60¥CH "ON “I'd “IpruYysSg A uopuilq SNOISIAIY -
T2res T T SNOLLO3S SSOMO WwouNa A8 VD TONI] I fa| = o
£186 oN‘uonozHoyhy JO eIDoURIe) - N 215 | L)
sieouiBuy |DUOCISESI0LY O PIDOE DPLIOLY .\rl_mimlm..m.( O Livd m =~ Oy &
L616°689°CL8 ¥ON Suoyd d00d SSYT1943dId N 2l ] g 5_
SBSCE "4 OSHIPA OSZ Xog °O'dl \N\Mv@a "ONI 0¥dLSYd ol |a|l&|g !
"ONI CSINVAINSNOD ONITUNE i % ; M ™ m
A pesodesd spuswNsOg -LoNAo¥d & M m
('dAL) ‘awa
NIW G/ 1-1

& ..2‘ | @@

(7)
®

INTERIOR

INTERIOR
[>Y

9

g
Nt

/
C =
N

[N L

a 4 s
EXTERIOR /

/ 2"\ VERTICAL CROSS SECTION

w Shown w/1X sub-buck

EXTERIOR

(8X®

/ &\ VERTICAL CROSS SECTION

W Inswing configuration

33 L

(*dAL) "gw3
NIW ./ 1-1

('dAL) ‘w3
"NIW .F/L-1

®

o &

o = O =

e O o O

X m = m

= ﬁ.mg Z ﬂm
SM g
. wm
mwmd as|>
Ulg o VIS

—~ l.mm Mc
o128 : V(g

58 SE

mm.m h wis
=100 N >0

o .

O 4

—

>

i

EXTERIOR

('dAL) awa
"NIW J¥/1-1

TT'G DM 11-6 £1261-1\0102\SDUIMEIA DAMY ‘Q\ZBST Jd\009T - T0GT [01A\SIBPIo] D8[0Id\S1al0Id - VAT



TON] SLNYLTIMENGOD 8nNIanig "My 2108 @

— 60¥EP ON “F'd “WPIUYDS "4 uopuki SNOISIASY -
Ttz T2 N SNOILO3S SSOMD TWOILNIA A9 Avd JONI Y o ol =l
£186 ON ‘UoRBELouNlY JO ©30oUeD - o215 S 2
sieeuibuly |DUOCISERIOLL 4O PIDOE DPLIOL] CATEWISSY d0 Ldvd Mm _m R
L616°6G9°TL8 TON @uoud 4000 SSY'19d3dld N REE 6_
GBGEE 714 OOMIDA O£Z Xog O'd \Su@. "ONI 04d1SVd o| |a|&|g |
"ONI ‘SLNVLINSNOD ONIGTING i m |y W i
:Ag pe.pdeid sjueLLNDO( <LoNA0Md & M W %
- ('dAL) "aw3
NIW F/1-1
L - " o
~ o O O
oz
o @ B
. S
. U9 D | m
2 \ N S
g \ 8z
o m S
v V _ M m
B My,
_ (S1ES
, (%
" o B3
) * ﬂ >
: ‘\\mwmw 5
AR ,A

0 mnu m..v/q L
S8 as = @) T
SmmM m - .
m..w mum.m - Ty
OMcmee g . =
T ERLE G T =
oE-0Cp5 Q. G
w%?@e ~ A E.mv
5525 E 5 4 A
30506 v Y » 2
TF: 5; 3 v Q-
oo ® o
mmn:md me
o >80 -~ >
S < ox
©E_-OC o lc
2000 c o .mm.
z S >33
- o [dAt)awa mw
NIW W/ 1-1
LR
Yow " ("dAL) awa N
L w5 mxu "NIW /171
. = ® &
v : 1L
: =
4 ,Vﬂ m =
e (o)
B 5
L, )
N IR %w
A Y w2
R g, &
o V|33
o D =15 3
I’ |_ rAbg-n.m.
; x  EI5S
> . D mmo
, v,q.vi \\8 m =0T

el @LT%
o WG1°0

TT'9 '‘BMPTT-6'€TZST-14\0T0Z\sBumelq Damy "a\L8ST 4d\009T - T0ST foid\siapjo4 1afoid\s1af0id - w\y



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.9-11.dwg, 7.11

R

i)
i

T
el o

|
|

19" MAX
ON CENTER

Tl
— I [
i
7 l
MASONRY TYP. HEAD ”]
OPENING 8 JAMBS I
il m
I I
2% BUCK\ MULLION ”
N sHOWN FOR
I - rererence — |l
I ONLY If —
= I
I I
| [
A | T \ Il
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have different edge

distance and center distance requirements.

2. Concrete anchor locations at the comers may be adjusted to maintain the min. edge
distance fo mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additionai concrete anchors

1]

55"~ e 41.25"

STRIKE JAMB

may be required to ensure the "MAX. ON CENTER" dimensions are nof exceeded.

3. Concrete anchor table:

&

1-1/4"

2-1/7°

3“

/4

1-1/4"

‘ll'

4"

S
i
1

MASONRY
OPENING

FRAME

2X BUCK

- oed

TYP. HEAD & J:

[+ 4
JAMBS g & § o
z &
N2 %z
— S N5
ot
" TYP. @SILL
h I I
FRAME ANCHORING

Masonry 2X buck construction

LATCH & DEADBOLT DETAIL

[
=
|
1

29I|

3
<=}
e
I

29"

- £%e%
x

I

{

HINGE JAMB

//

N
/4
HINGE DETAIL

N
o ™~
g oo
B Smnl 3
: Wy @
TRI\E
= n 2o .
LELFEE
EQo‘”.?:v R
229 £ Nl u
HEo 38 o
22 88N
[} P!N 4
ZOnE 2
. OB €
&ONgﬂ-ﬁ £
.gczagz‘s&' &
03_285 W
n.-oou e
PRBoide 8
0. [} ©
o & [
2 gv,‘é 2
€ TP
[ o8
PR i
3
13
]
O
8B
b
=5
v
& SE
OO0 =
24 SE
oglsy <O
&
e i o
ozgz
gmlw S
Lt 2
Lo =
o = IS
S O wx
a oL
] El 22
& <| D@
o o
b
n
%]
=z
Q
v
2
=
S
o
=
MT&02/16/12
ScAlE:  N.T.S.
CHK. BY: LFs
DRAWING NO.:
FL—-15213.11

SHEET 7 OF _9

© 2012 RW. BUiLDiNnG DONSULTANTS ING.



R:VA - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.9-11.dwg, 8.11

41.25"

5.5" ——1 i
S

STRIKE JAMB

CONCRETE ANCHOR NOTES:

. oo 4 N / 6“
R i ' ] i
. j \ = -
.. . | - [———
MASONRY ; “'PJ' :j’é‘?&
OPENING
i
<5
=0
FRAME/ - 2z

/TYCP%\
MULLION

el

]

24" MAX
ON CENTER

RO

1X BUCK\
s TYP. @ SILL
‘V‘_ ‘4 ':4

T — - -
F . : ce. o ¥
[, T .
9 . . a B < 4 o]
. - < . AR c L
C g C X o

FRAME ANCHORING
Masonry 1X buck construciion

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the comers may be adjusted to maintain the min. edge
distance to moriar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to mainiain the min. edge distance to mortar joints, addifional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

W /4"

1-1/4"

2.1/ 3

1 5
EH—
.
JEE
B
-
HINGE JAMB

I
®\\. i
A
HINGE DETAIL

—(19)
—(13)

27 /i
/4
LATCH & DEADBOLT DETAIL

0
@
D
g3
2
- J5
@
535
= T
2359
2 >
g =
. 6R%
%UN?.:
O Xz
224
EMg
¢ 9 .c
6 =208
EDQ&
s ao
S
[= E:
8
E
2 ;
[}

Florida Board of Professional Engineesrs

Certiﬁcat%ijcﬂon Mo. 9813
Z-¢ Pz
Lyndon F. Schmidt, P.E. No. 43409

W
[&]
>z
of TR
S >
eS8 =S
=0 QE
ounl. =2
m%i‘: xS
& 2
g%ﬁ O
Ll @) %0:
Lo ==
.o L LI
5 x =
= 5 32
el "
g P
&
2]
=
O
2]
ol
e
=
o
o]
Z
paTE: 02/16/12
scale:  N.T.S.
DWG, BY: JK
CHK, BY: LFS
DRAWING NO.:
FL—15213.11
sHEET 8 oF 9

© 2012 RW. BUuLpDinGg CONSULTANTS IND.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.9-11.dwg, 9.11

- 4.56"
!

1.22

DR

b

244

L 213" —=

HEAD & SIDE
Jamb

BILL OF MATERIALS
ITEM| DESCRIPTION MATERIAL

A_| 1XBUCK SG >=0.55 WOOD

B_| 2XBUCK SG >=0.55 WOOD
C_|1/4" MAX.SHIM SPACE -
D_|1/4"X2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL

£ | MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F_|1/4"X2-3/4" PFH TW CONCRETE SCREW STEEL

|| 1/4"X2-1/4" PFH ITW CONCRETE SCREW STEEL
J_|1/4"X 3-3/4" PFH ITW CONCRETE SCREW STEEL

K_| #10 X 2 PFH WOOD SCREW STEEL

L | #8X2-1/2"PFH WOOD SCREW STEEL

M_| #8 X 2" PFH WOOD SCREW STEEL

7| FORCE 5 WEATHER STRIPPING BY ENDURA FOAM

8 | COMPRESSION WEATHER STRIP QLON 650 BY SCHLEGEL FOAM

9 | 4"X 4" BUTT HINGE STEEL

10 | #9 X 1" PFH WOOD SCREW STEEL

T1_| #9 X 3/4" PFH WOOD SCREW STEEL

13 | #8 X 1-1/2" PFH WOOD SCREW STEEL

17_| KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL

18 | KWIKSET DEADBOLT - SIGNATURE SERIES {780] STEEL
20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD
21| POLYFIBER JAMB COMP. / VINYL
27 | LATCH STRIKE PLATE STEEL
28_| DEADBOLT STRIKE PLATE STEEL
30 | INSWING VINYL DOOR BOTIOM SWEEP BY ENDURA VINYL
31 | OUTSWING BUMP THRESHOLD ALUM.
32_| VINYL DOOR BOTTOM SWEEP #3628 BY HOLM IND. PVC
33 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
34 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
35 | SHOE MOULD 5/8"X 3/8" WOOD
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
41 | DOOR SKIN [MIN. 0.075" THICK] FIBERGLASS
42_| TOP RAL CELLULAR PVC
43 | LATCH & HINGE STILE CELLULAR PVC
44_| REINFORCEMENT WOOD FOR LOCKS (20" LONG] WOOD
45_| BOTTOM RAIL CELLULAR PVC
46 | POLYURETHANE FOAM BY NAN YA POLYURETHANE
47 | CONTINUOUS LATCH & HINGE STILE REINFORCEMENT WOOD
48 | SNAP IN LITE FRAME ABS
49| GLAZING COMPOUND SILICONE
50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
51 | SIDELITE TOP & BOTTOM RAIL BY NAN YA CELLULAR PVC
55 | GLAZING SPACER ALUM.

5.63"

( : ) ADJUSTABLE INSWING THRESHOLD

;r{: ‘ 456" E
? ! 244" ! 213
HEAD & SIDE
~ 456"
g I

—

( : i ) ADJUSTABLE INSWING THRESHOLD

@ OUTSWING BUMP THRESHOLD

0.5" GLASS
BITE

/.

+| 125" j=—

_ I"MIN.
GLASS THK.

49

el

AN

48

s

. GLAZING DETAIL

1/8" TEMPERED

/‘ GLASS

| «—AIR SPACE

OPTIONAL

DECORATIVE INSERT

\‘QAER SPACE
1/8" TEMPERED

GLASS

1.38"

n No. 9813

CerﬂﬂcatZ #%

BUILDING CONSULTANTS, INC.
P.Q. Box 230 Valrico FlL. 33595
Phone No.: 813.659.9197
Florida Board of Professional Engineers
& . P -

Ry

Documents Prepared By:

43308~

Lyndon F. Schmidt, P.E. No.

PLASTPRO INC.
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS, GLAZING
DETAIL & COMPONENTS

BY

REVISIONS

=
<
a
o
=
2

oaTE: 02/16/1

SCALE:  N.T.5.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—=15213.11

sHeer 9 oF 9

© 2012 R.W. BUILDING BONSULTANTS NG,



